







OUR MISSION

Our Mission In Today's Time, Clever People Are
Wasting Their Money By Deceiving People
Working In Networking By Making Complicated
Plans. In Such A Time We Poor And Middle Class
People Can Fulfill Their Every Dream By Investing
Only RS. 200 With Us And Doing A Little Hard Work.
We Have A Team Of Experienced People. People
Who Have Not Got Any Good Income Even After
Working In Many Companies Can Earn Good
Income By Working With Us In This Different Plan.
We Promise From Our Heart That We Will Do Our
Best To Fulfill Your Dreams. We Will Try.





HOW TO START

You Can Activate Your ID By Purchasing Pin Of RS.250/-And You Will Get Product For Activation.



છોટા પેકેટ બડા ધમાકા











Chamical free Tasty, Healthy and Wealthy Products

જીવનમાં ફક્ત એક્જ વાર રૂ.૨૫૦ની એક પ્રોડક્ટ લેવાની અને 3 લોકોને અપાવવાની...અને લાખોની આવક તમારી

રા.૨૫૦ ઇનવેસ્ટ થી લાઈફ બદલો ૨७ કરોડ સુધીની આવક મેળવો.

૫૦ ટકા પ્રોડકટ ફ્રી ઓફર



સરગવા પાવડર કેપ્સુલ







ખજુર આંબલી ચટણી



નાળિચેર પાણી પાવડર



લીબુ પાણી પ્રિમીક્ષ



ચીકુ પ્રિમીક્ષ



કેસર સીતાફળ બાસુદી



કેરી રસ પ્રિમીક્ષ



સ્ટ્રોબેરી મિલ્કશેક



ટામેટા પાવડર



શેરડી રસ પાવડર



સૂકવેલી લસણની કળીઓ



તળેલી કુંગળી

GREEN EARTH PROJECT (GEP250)

LEVEL	MEMBERS	INCOME	TOTAL	REWARD
1	3	50	150	
2	9	20	180	
3	27	20	540	
4	81	10	810	
5	243	20	4860	5 product free
6	729	10	7290-2500 uprd	Travel Bag
7	2187	20	43740	4 person Resort

GREEN EARTH PROJECT {GEP2500}

LEVEL	MEMBERS	INCOME	TOTAL	REWARD
1	3	500	1500	
2	9	250	2250	
3	27	200	5400	
4	81	200	16200	
5	243	250	60750-25000 uprd	
6	729	200	145800	2 person Goa
7	2187	500	1093500	1 person Thailand

GREEN EARTH PROJECT {GEP25000}

LEVEL	MEMBERS	INCOME	TOTAL	REWARD
1	3	500	15000	
2	9	2500	22500	
3	27	2000	54000	
4	81	2000	162000	Mobile
5	243	2500	607500-1.25 lakh uprd	
6	729	2000	1458000	Activa+Laptop
7	2187	5000	10935000	U.K cople tour

GREEN EARTH PROJECT (GEP125000)

LEVEL	MEMBERS	INCOME	TOTAL	REWARD
1	3	25000	75000	
2	9	12500	122500	
3	27	11000	297000	
4	81	10000	810000	
5	243	11000	2673000-5 lakh uprd	
6	729	12000	8748000	Wego-R
7	2187	25000	54675000	30 Lakh Flat

GREEN EARTH PROJECT {GEP 5 Lakh }

LEVEL	MEMBERS	INCOME	TOTAL	REWARD
1	3	100000	300000	
2	9	50000	450000	
3	27	45000	1215000	
4	81	40000	3240000	
5	243	45000	10935000	
6	729	50000	36450000	
7	2187	100000	218700000	BMW car + 1 Cr. Bunglow



REWARD



GEP 2500







REWARD

GEP 25000



GEP 125000

LEVEL 6 LEVEL 7

GEP 5 LAKH





TERMS AND CONDITIONS

- > Free Registration But Active In 7 Days
- Minimum Withdrawal Will Be Rs.400 + Each Time.
- > 10% Admin Charge,5% TDS
- No Capping, No Any Typical Conditions
- > Unlimited Ides On 1 PAN Card.
- No PAN Card, 20% TDS Cut.
- The Upgrade Amount Will Be Automatically Deducted Each Time.
- > There May Be A General Increase In The Registration Amount From Time To Time.



